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I. 2 mwn: Breadth of np
a.size: enough to hold an n»R, which is a ¥4 brick (brick —v”s >R — 1.5 'nav) - 1 nav wide
i. challenge: if only 1 nav wide, cannot hold a 1.5 n»r
ii. answer: can mortar down the ¥4 nav on each side and it will stand
I. 7 mwn: strength of nmp
a. 2’ must be broad and strong enough to hold an mar-brick
i. Question: do supports need to be strong enough to hold a n"mp and an N r
1.4217 /7 need not be strong enough
2.n”1. need to be strong enough to hold both nmp and (theoretical) nx
b. /1777 /7. as long as it is broad enough, need not be strong enough
i. 77 37 taught 17's son this version; 21 corrected it to "Nk nanv” (i.e. like p'n)
1.Challenge: 27 taught that if it is v, no need to be strong
2. Answer: indeed, if it is V"1 wide, no need for nx’13; if only standard width, must be strong as well
III.  Utilizing “imagination” to give nMp necessary gravitas
a. If:itis made of straw, we imagine it to be made of metal
i. Teaches: that even if we need to imagine it to be another material, we do so
b. If: crooked: we imagine it to be straight
i. Teaches: that even if crooked part is outside of »an, we ignore it (if <3 space)
c. Ifround: we imagine it to be rectangular
i. Needed: to introduce next clause — “rabbinic pi”
ii. Calculation: circumference = diameter x3 (rabbinic “pi”)
L.source (for ratio of 3): 1N 1 — vv. 1-2 — nn%w Yv B> was 10 diam., 30 circ. (measured inside — exactly 30)
2.tangent: nn%v Y¥ 0> held 150 mxnpn (each of 40 Nro, per v. 3)
a) Challenge: should be 500 cubic mm~ (5 x 10 x 10); not the 450 needed for 150 mxnpn
b) Answer: it was round, losing V4
i. Challenge: should only hold 125 mxnpn
ii. Answer: bottom 3 mnr were squared
iii. Support: v. 2 states that it held 2000 na (=6000 nRo, per v. 4)
1.Challenger: v. 5 states that it held 3000 na
2.Answer: dry measure is 50% greater than liquid capacity
IV.  Related rulings
a.spw ‘1. if he put a nMp up and draped a mat over it — not “fixed”
i. 777, not considered, as it is covered
ii. Mat: not considered a n¥'nn, as it is above height where kids can burrow (12 D’y o 1mnw n¥nn)
b.  #-7:x parvy 8nooir. if a nMp comes out of one wall but doesn’t reach the other
i. Or: two mMp coming out of facing walls but not touching
1.If: there is a distance of less than V") (3"2w1 — v"1) between them, no need for another np
2.But if: it is wider than v" (3"2w1 — v"1) — another nMp must be brought
ii. Similarly: if 2 mMp, neither wide enough to hold an n»™x, are parallel
1.If: they can hold an n»® widthwise between them, sufficient; if not — need another nmp
2.17aw7. if they can hold an n R lengthwise (3 n'nav), sufficient
iii. 779772 92 201> /7. if they are at different heights, we imagine them to be parallel
1.As long as: they are higher than v and within nnx 2
a) 7ax:»"11 accepts his father’s ruling (1)17) but rejects his allowance of higher than nnx >
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